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ANGSS | BETA BrT# ha) | cEEp | | demo |rsw | gem |wman|  FE HAEE
BEJI HERX SEARITH 0.10 1 1 0 0 1 187K FEFI51EE9H9H
IEEI HEX LFEEITH 0.40 10 23 0 0 10 233K BEF05149H9H
EET HERX X#E2TH 0.70 7 9 7 4 14 13[;&@K B#053%F4H6H
EEI HERX FELRITH 4.00 91 185 0 0 91 185[ 7K FEF5443H24H
EE HEX LE%1~3TE K BF054%E3H24H
IEEI HEX LTHEITH 6.60 144 371 18 9 162 380[i= K AEF05445H15H
EE HEX FEL1TH Rk BF054%E5H15H
EEI HERX BELS2TH Rk FEFI5445H8 158
EE HEX HIL2TH 40.40 766 1359 746 1133 1512 24923k, Wk [RBFN564E7 B 22H
EEI HERX HIU1-3TH 0 o2k, K |RBFN56E7H22H
EE HEX X#E1TH 0 oK. 7K |BBF0564E7 8228
EEI HERX HFELR1TH 0 o2k, sk |RBFN56E7H22H
BEJI HEX EEL2TH 0 oK. 7K |BBF0564E7 8228
EE HEX FELS3TH 0 olizk. WK |BBFNS64ETA22H
EE HEX LE%H’E 0 oK. 7K |BBF0564E7 8228
B2 HERX FEHE2TE 0 olim/K. A7k |ABFNS64E7H 228
EE HEX FHESTH 0 oK. sk |BBF0564E7 8228
B2 HERX T HEITH 0 olia/K. A7k  |ABFNIS64E7H 228
EET HERX FHEITH 0.10 0 0 1 1 1 1[Ik BFN564E10H22H
B2 HEX BEEITH 0.10 0 56 1 0 1 56| 7K FBFN56E10H 228
EET HERX THEITH 0.10 0 0 1 1 1 1{AK BFN564E10H 228
= HERX KEL2TH 0.20 3 3 5 5 8 8|k FEFI574E9H 128
FI HEX #~sE3TH 0 DY B 057498 12H
EI] HERX hiE2TH 0.10 5 2 2 2 7 AEER FEF057% 11 5308
EE HERX TEHE2TH 3.00 33 33 0 0 33 33|HK BF057%F4H15H
B2 HERX FEHE1~3TE 32.50 334 632 408 363 742 995[i& /K. 7K |ARFN57EE9R12H
BEJI HEX FEH51~3TE 0 oK. sk |BBFIS74E9812H
EEI HERX HIU1~3TH 0 o@/K. K |BBFIS7E9A 128
EET HERX K¥EITH 0 ofasK, A7k |BB#FN5749A12H
B2 HEX TBEE1-2TH 4,00 2 6 2 0 4 6Lk, AZK  |BBFNI5749A 128
EE HEX FTEEI~3TEHE 30.00 298 356 268 199 566 555[A17K BF157411 H30H
EEI HERX FEL1~3TH 0 0|7 BF057411H308
EEN HEX HI1~3TH 0 NEES BF157411 H30H
EE HEX KEITH 0 o{msk BF057411H308
EET HERX HE4TH 0.10 2 2 0 0 2 2| 7K BFN57411 8308
weEs Il HERX AARKI-2TH 0.40 8 7 1 1 9 8|k BEF0584%7H9H
FI HEX HEHNEITH 0.10 1 1 0 0 1 1{AK FBFI5847H9H
EE HEX HE3-4TH 1.00 44 64 4 5 48 69| 7K EFN58F7H9H
EE HEX T HESTE 0 P FBFI584E7H9H
HEII HEX THESTH 0 o[msk RF158FE7H9H
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EET HEX =H2TH 0.10 5 4 0 0 5 4{RK BF058%E7H9H

Aaadb)Il HEX B~y E2TH 4.90 159 72 12 12 171 847K #0605 7H14H
R &b HEX #yE2TH 0 o[k BF160E7H14H
e gR) I HEX LTHZE2TH 1.60 33 22 3 3 36 25)i7K. K [REF060F7H 14H
e ER I HERX LFHE3ITH 0 oK, 7K |BB#I60&E7A14H
weER I HEX AAKITE 0 0lizK. K BBFN60E7814H
e ER I HERX AAK2T B 0 o[k, 7K |BB#FI60&E7A14H
= HEX EANE2TH 25.20 416 323 180 170 596 493[:K, MK |BBF160E7H14H
= HEX MOKRIRITH 0 o[k, A7k |FBF1605E7H 148
= HERX HOAKRIRITH 0 o[}k, A7k |FAF060F7H14H
EI HEX INEITH 0 o[k, A7k |FBF160E7H 148
= HERX J\E2TE 0 o2k, 7K |RBFI60E7H 148
FI HEX J\E3TE 0 o[k, A7k |FBF160&E7H 148
= HERX J\E5STE 0 o2k, sk |RBFI60E7 A 148
FI HEX hiE1TH 0 o[k, A7k |FBF1605E7H 148
= HERX h#E2TH 0 o2k, sk |RBFI60FE7 A 148
EI HEX ERTE 0 o[k, A7k |FBF160E7H 148
= HERX EH2TH 0 o2k, sk |RBFI60E7H 148
FI HEX KELWITH 0 o[k, A7k |FBF1605E7H 148
= HERX KEL2TH 0 o2k, K |ABFI60E7 A 148
FI HEX BHAE1TH 0 o[k, A7k |FBF1605E7H 148
= HERX #BHNE3ITH 0 o2k, sk |ABFI60FE7H 148
EET HERX K#E2TH 1.00 9 7 1 1 10 8imsK. MK |BBFN60ZE7A14H
EEII HEX L+ BESTH 2.30 62 53 2 1 64 54[ 7K REF160F7H 148
EET HERX b HE2TH 0 o[k FRF16057H14H
B2 HEX hEHESTE 0 o[k #0605 7H14H
EET HERX THEITH 0 NSRS FRF16057H14H
EE HEX TEHZE2TH 0 o[k EF060FE7H 14H
EET HERX HE3TH 0 o[k FRF16057H14H
EE HEX HE4TH 0 o[k FEF060FE7H 14H
EET HERX hRET2TH 0 NSRS FRF16057H14H
I HEX BXA2TE 0.10 2 0 0 0 2 o{msk #0605 7H14H
£ HEX BXA5TH 0 0|7k BF060E7H14H
e gR) I HEX LHZE2TH 1.08 16 11 10 11 26 22| 7K MEF06257H25H
e gg)Il HEX FHESTH 0 0|AK FBFI624E7H25H
e ga)Il HEX HXF2TH 0 EES AEF06247H25H
e Eg)Il HERX AAAIT B 0 P FBFI624E7H25H
weEs Il HERX RAAAR2T B 0 o{msk AEF06257H25H
e ER I HERX AAKITH 0.07 1 1 2 2 3 3|AIK IRF6257H31H
SERR HERX EAK2TH 0 NIRER HBFN624E7 8318
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= BEEZX BRyE1TH 1.44 16 6 14 0 30 6|AK AEF06247H25H
= HERX #’yE2TH 0 0[AI7K FEFN6247H 25H
= HEX INE2TH 0 0|AK FBF624E7H25H
= HERX ERT2T B 0 0[Pk FEF6247H25H
FI HEX i1 TH 0 0|7k BF06247H25H
= HERX hiE2TH 0 0[Pk FEF6247H25H
= HERX KEWLITH 0 0|AK FEF624E7H25H
= HERX HEsEITH 0.14 5 4 11 5 16 9|HIK FEF0624E8 H24H
= HERX EH2TH 0 0|AK FRFN6248 H24H
= HERX KEWLITH 0 0[Pk FEF6248 H24H
EET HERX hHE1TH 3.96 120 93 42 23 162 116K IRFN6257H25H
B2 HEX HE3TH 0 o[k #0625 7H25H
EE HEX HEATE 0 0|AK FBFN624E7H25H
EEI HERX hRH1TE 0 0[Pk FEFI6247H25H
EE HERX fRET2TE 0 0|AK FBF624E7H25H
EEI HERX ENiE1TE 0 0[Pk FEF6247H25H
EE HERX ENiB4TH 0 0|AK FBF624E7H25H
B2 HEX hHESTE 0 o[k AEF062457H25H
EE HERX TEHE3TH 0 0|AK FBFI624E7H25H
EE HEX TEHZE6TH 0 o[k EF06257H25H
EET HERX ENiB1TH 0.62 24 22 18 14 42 36/7K RF16257H31H
IEE3 HEX =ZHITE 0 WSS AEF06247H31H
EET HERX =H2TH 0 NSRS IRFN6257H31H
B2 HEX HE3TH 0 o[k Ef06257H31H
EE HEX HEATE 0 0|AK FRF624E7H31H
EE HEX b HESTH 0 NESES AEF06247H31H
I HERX HEXEITH 5.40 21 17 66 21 87 387K IRFN6257H25H
I HEX HEXE4THE 0 o[k AEF06257H25H
oI HEX HEABSTE 0 0|AK FRFI624E7H25H
Il HERX EEARG6TH 0 0|AsK AEF06247H25H
£ HERX E&Z1TH 0 PN FBFI624E7H25H
Azl HERX fEFE2TH 0 EES REF06247H25H
£ HERX E&3TH 0 0|AK FBFI624E7H25H
I HEX BXA1TE 0 o{msk AEF06257H25H
£ HERX BXAR2TH 0 0|AK FBFI624E7H25H
I HEX BXA3TE 0 o{msk EF06257H25H
£ HERX BXA5TH 0 P FBFI624E7H25H
I HEX [ERT1T B 0 o{msk AEF06257H25H
£ HERX [RET2T B 0 0|AK FBF624E7H25H
Il BEEX EEITH 0 0|7k AEF06247H25H
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o311 BEEX m2TH 0 0|AK FBFN624E7H25H
Il HERX E3TH 0 NESES AEF06247H25H
EE HERX HE1THit 3.50 12 12 24 2 36 142K, KK | FRTE08H01H
e Es il HEX FEHEITHM 0.02 1 0 1 0 2 0|7k Tr3FE9IH18H
BEJI HERX HFEL2TH 0.14 2 1 11 6 13 7K ER4E12H8H
EE HERX SEH4TH 0.01 0 0 1 0 1 0|AsK ERS5EIA4R
=l HERX =H2TH 0.07 0 7 2 1 2 8| 7K FEr9E8H23H
= HERX hiE2T Bith 0.02 0 0 2 2 2 2|AK EROFEIASH
EE HEX LTEE2TH#M 3.11 62 172 59 30 121 2027k TR 94E8H 238
EET HERX RIL3T Hith 0.26 1 41 1 0 2 41| Rk EROFEIASH
R3] HEX BXA2TH 0.03 0 0 3 3 3 3[Rk ER9E8H23H
= HERX HEsE1THit 0.42 3 22 10 7 13 29| Ak ER114E8H29H
BEJI HERX FES1THM 4.29 101 743 136 83 237 826]AK TER114£8H29H
a2l HERX HEXE1TH#h 1.84 18 147 49 28 67 175[A7K ER115E8H29H
e ER I HERX tHE 0.04 1 1 0 0 1 1|AK ERI2%E7HTH
B2 HEX =Hfth 0.29 20 14 4 4 24 18|9K TR125F7H3H
EET HERX BE 0.01 0 0 2 2 2 2| 7K ER12%E7H4E
I HEX Bxxa 0.01 1 1 0 0 1 1{K Ep12%E787H
e ER I HERX HAAAR1TH 0.02 0 0 2 2 2 2| 7K ER14%E8H2H
YERR HERX EARK 0.08 3 11 7 6 10 17]A7K FER14%E8H4H
] HEX J\ES5TH 0.01 1 1 1 1 2 2|AK ER144£8H2H
= HERX hiE2T Bt 0.37 12 56 10 10 22 66|A7K ERR145E8H4H
EET HERX HEKE1TH#th 0.50 12 86 26 30 38 116K ER14%E8H4H
B2 HERX BHE 0.01 1 0 0 0 1 o[k Ep14%F9H6H
EET HERX THE 0.02 0 0 1 1 1 1{K ERI4%E9HTH
Il HERX [RET1T Hith 0.14 3 3 10 5 13 8|F D TR 1458 H4H
EE HERX BEE1THith 0.04 3 3 2 2 5 5K ERR15% 108138
BEN HEX EniZ3T B 0.15 1 21 0 0 1 21K TERk155%10823H
EE HEX KiE2T Hith 0.10 3 3 6 6 9 9|AKk ER165E9H4H
BEN HERX EfiZ1T Hith 0.52 8 88 8 9 16 97|AK FER1651089H
EET HERX EiZ1 T Bih 0.60 45 385 50 40 95 425|AK TER164E10H 208
weEs Il HEX ARKR—TH 0.01 1 1 1 1[Ik TR178E9H11H
EET HERX ZH_-TH 0.01 1 1 1 1{AK SER17E6H30H
BHEN HEX FEHENTH 0.01 1 1 1 1{K ERR17EFIR11H
EET HERX =H-TH 0.01 1 1 1 1 2 2| 7K ERRITEIR11H
IEEI HEX HE—TH 0.00 1 1 1 1K TR175E9H11H
EEN HERX HE=TH 0.08 1 2 7 5 8 77K ERITEIR11H
EEI HERX HEWMTH 0.06 3 0 3 o[k ER17E9H11H
EEN HEX TEHE-TH 0.05 1 0 1 NSRS ERRITEIR11H
BE BEERX TEE=-TH 0.01 2 2 2 AGER ERFITEIR11H
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EEN HEX THE=TH 0.00 1 1 0 0 1 1|AK ERRITEIR11H
SEI HERX G H—TH 0.06 6 3 0 3 6[K Ep17E9H11H
I HERX BHEXE—TH 0.06 12 1 0 1 12{AK ERRITEIR11H
HEII HEX BEHRAAE2TH 0.00 0 0 1 1 1 1{K ER214E10878 ~8H
AL HERX HE4TH 0.00 1 1 0 0 1 1|AK E215E1057H~8H
YERR | HERX EAKITHE 0.02 4 7 5 5 9 12|A7K Ep25%7H23H
e ER I HERX AAK2TH 0 2 1 0 0 2 1|AK SER25%F7H23H
e gR) I HERX LFBEE2TH 0 1 1 1 1 2 2|AK ER25%7H23H
BEII HERX hRET2TE 0.01 0 0 4 4 4 4{RK SER25%FT7H23H
ESS=E:0i HERX FE1TH 0.01 1 1 8 1 9 2| K TRk255%7H 238
BEHII HERX G ET2TE 0 1 132 1 1 2 133[ K SER25%F7H23H
=k HEX BE4TH 0 0 0 4 0 4 0[7K ERk25%7H23H
= HERX WMOARITE 0 0 0 2 2 2 2|HK ER25%7H23H
= HERX b1 TE 0 0 0 2 0 2 0|AK ER25%7H23H
3 HEX hiE2TE 0.01 0 37 7 7 7 44|H7K SER25%F7H23H
= HERX EHNE1TH 0 1 11 1 4 2 15[R7K ER25%7H23H
EI HEX HAE2TH 0.02 3 3 7 7 10 10{ 7K SER25%F7H23H
= HERX JANE1TH 0.03 4 9 13 7 17 167K k25578238
= HEX IANE2TH 0.04 7 17 9 7 16 24{ 7K k255 7H23H
= HERX J\E3TH 0.08 11 43 21 19 32 62| A7k k25578238
FI HEX J\E5TH 0.02 3 8 4 2 7 10{ 7K SER25%FT7H23H
= HERX BHMNE1TH 0 0 0 1 0 1 0|AK ER25%7H23H
EE HEX RIU1TH 0 0 0 1 0 1 0|7k SER25%F7H23H
BE HERX EE3TH 0.01 1 2 9 6 10 8K TERE25%F 78238
HEZEN HEX THESTH 0.02 9 77 6 3 15 80| Ak SERR25%FTH23H
EEZ HERX THE4TH 0.02 2 8 4 4 6 12| 7K ER25%7H23H
HEEN HEX THESTH 0 1 1 0 0 1 1{AK SER25%FT7H23H
HEF) HERX THE6TH 0 1 0 0 0 1 NESES ER25%7H23H
HEZEN HEX BEEAXF1TH 0.01 0 16 6 2 6 18/ 7K SER25%F7H23H
EEZN HERX EEZXKE3TH 0.01 1 25 2 9 3 34| Ak ER25%7H23H
I HERX [RET1TH 0 0 0 1 0 1 NSRS SER25%F7H23H
I HEX FER1TH 0.01 1 5 4 4 5 9|k ERk25%7H23H
£ HEX ERE2TH 0.04 0 0 2 1 2 1{AK SER25%F7H23H
2] HERX EE2TH 0.01 0 6 4 6 4 12|AK ER255%E7H23H
I HERX m1TH 0.01 1 4 1 0 2 4{RK SER25%FT7H23H
I HEX BXA1TH 0.01 0 0 1 0 1 0[Pk ER25%F7H23H
£ HEX BXB82TH 0.01 0 0 1 1 1 1[Ik SER25%F7H23H
eI HEX BXAS5TH 0.03 1 6 11 10 12 16{ K ERK255%F7H23H
£ HEX BXA6TH 0 0 1 2 2 2 3[Rk SER25%F7H23H
Il BEEX BEEZAXE2TH 0 0 9 2 2 2 11[AK FR25%7H23H
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I HEX HEXKRSTH 0 1 0 1 0 2 NISES SER25%F7H23H
T2 BEX BEAXHE6TH 0 0 0 3 3 3 3[mk ERk25478238
EE HEX BELE—TH 0.00 0 0 1 1 1 RER ER26%E6H29H
EEI HERX FEL_-TEHE 0.00 0 0 1 1 1 1[Ik ERR265E6H29H
EET HERX FELR=TH 0.02 1 12 2 4 3 16{ K ER26%E6H29H
EEI HERX hHEMTH 0.00 0 0 1 1 1 [IZER T RE26%E6 5298
EET HERX RIU—TH 0.01 1 1 4 1 5 2| 7K ER26%E6H29H
BEN HEX BIL=TE 0.01 0 12 3 6 3 18{ Ak TRk2656H29H8
EE HEX RIL=TE 0.01 0 0 3 2 3 2|AK ER26%E6H29H
BE) HERX HE=TH 0.00 0 0 1 1 1 1{A7K FERk26FE6H29H
HEZEN HEX TEHE=TH 0.00 0 0 1 1 1 1[Ik ER26%E6H29H
BEF) HERX TEHEMTH 0.00 0 0 1 1 1 1Ak ERk264E6 5298
ES HEX Ei5—TH 0.03 3 6 8 3 11 9|AKk ER26%E6H29H
B HERX [ = 0.00 1 1 0 0 1 1[Ik ERR265E6H29H
721 HEX BB =TE 0.00 1 1 1 0 2 1{AK ER26%E6H29H
Z2 1| HEX ERiGIUT B 0.00 0 0 1 0 1 0[Pk FERk2656H29H
721 HEX KE_TE 0.02 1 17 4 6 5 23|HJK ER26%E6H29H
weEs Il HEX AXK—TH 0.00 1 1 0 0 1 1{K ERk2656H29H
e ER I HERX LFTEEZTH 0.00 0 0 1 1 1 1{AK ER26%E6H29H
e gR) I HERX FEE=TH 0.01 0 0 3 3 3 3[Rk ERR265E6H29H
e ER I HERX LTHERTH 0.00 1 1 0 0 1 1|AK ER26%E6H29H
BFEI HEX FH—TH 0.00 2 2 0 0 2 2| 7K FERk26FE6H29H
EET HERX KE2TH 0.00 1 1 0 0 1 1|AK ER27%E9H8H
= HERX KEW1TE 0.00 1 1 0 0 1 1[Ik ER27E9H8H
FI HEX HAE1TH 0.00 1 1 0 0 1 1{K ER2749H8H
I HEX BXAS5TH 0.00 1 1 0 0 1 1{K FEp27%F9H8H
721 HEX K¥E2TH 0.00 1 1 0 0 1 1{AK ER28%8H21H ~22H




